2017年湖南农业大学硕士招生自命题科目试题

科目名称及代码：基础英语 612              
适用专业（领域）：外国语言学及应用语言学
考试需带的工具：                     
考生注意事项：1所有答案必须做在答题纸上，做在试题纸上一律无效；
              2按试题顺序答题，在答题纸上标明题目序号。
I. Paraphrase（20 points, 2 points each）
Write your answer on the answer sheet
1. The place has been here since 1915, and no hurricane has ever bothered it.

2. Serious looking men spoke to each other as if they were oblivious of the crowds about them.

3. Even the self-assurance of Ogilvie flickered for an instance.

4. The case had erupted round my head.
5. The cast of characters set before him in his new profession was rich and varied--- a cosmos.
6. They are cattle in the fields, but we sit down to beef.

7. Hitler was counting on enlisting capitalists and Right Wing sympathies in this country and the U.S.A.

8. Conversation is not for making a point.
9. The burying-ground is merely a huge waste of hummocky earth, like a derelict building-lot.
10. Mark Twain digested the new American experience before sharing it with the world as writer and lecturer.
II. Vocabulary and Grammar（20 points, 1 point each）
Decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.
1. __dull he may be, he is certainly a very successful top executive.
A Although     B whatever      C As         D However

2. If only I __play the guitar as well as you!
A would        B could        C should       D might

3. The party, __I was the guest of honour, was extremely enjoyable.
A by which      B for which     C to which      D at which

4. It’s high time we __ cutting down the rainforests.
A stopped      B had to stop     C shall stop       D stop

5 The student said there were a few points in the essay he __ impossible to comprehend.
A has found     B was finding    C had found      D would find

6. Aren't you tired? I ____ you had done enough for today.
A. should have thought         B. must have thought
C. might have thought          D. could have thought

7. "It seems that she was there at the conference." The sentence means that
A. she seems to be there at the conference.
B. she seemed to be there at the conference.
C. she seems to have been there at the conference.
D. she seemed to being there at the conference.

8. Which of the following adverbs can NOT be used to complete " _____ everybody came"?
A. Nearly     B. Quite         C. Practically       D. Almost

9. In "How much do you think he earns?" how much is ______ of the sentence.
A. the subject               B. the adverbial
C. the object                D. the complement 


10. "The man preparing the documents is the firm's lawyer" has all the following possible meanings EXCEPT
A. the man who has prepared the documents...
B. the man who has been preparing the documents...
C. the man who is preparing the documents...
D. the man who will prepare the documents...

11. Keep this reference book; it may come in _____ one day.    

 A. handy       B. useful       C. convenient        D. helpful  

12. The questions that the speaker raised were well ____ the average adult.    

 A. past          B. on          C. beyond          D. through  

13. Teachers in this school were encouraged to use drama as a(n) _____ of learning.    

 A. design         B. instrument     C. agency          D. tool  

14. First, we need to find out what his scheme is, and then act _____.     A. sensitively   B. imaginatively   C. efficiently   D. accordingly  

15. At first Jim was not quite clear what he was going to do after 
university, but now he seems _____ on becoming a computer programmer.   

  A. fit           B. set          C. disposed       D. decided  

16. Developing countries should adopt labor-intensive technologies to _____ their comparative advantage of abundant labor.

A. use         B. exploit         C. employ        D. explore

17. The tests show the earlier in life a person hears a sound the longer it is        .
A. retained     B. preserved       C. remained     D. reserved

18. The Channel Tunnel is one of the biggest engineering projects ever        .

A. understated    B. undertaken    C. undergone   D. underneath

19. Good relationship between partners are the rudders which steer joint ventures through       waters.

A. troublesome     B. troubled     C. troublous    D. disturbed

20. The lack of manners and common politeness is not        to business deals. It’s a social blank.

A. exclusive       B. inclusive     C. elusive     D. impassive

III. Cloze (30 points, 1.5 points each）
Decide which of the choices given below would best complete the passage in the corresponding blanks. Mark the corresponding letter on the Answer Sheet with a single line through the centre. 

 In Japan, most people still feel that a woman’s place is in the home; and most women willingly accept their     1   role as wife, leaving the business of making a living    2   their husbands. For those who do want a   3   of their own, opportunities are limited, and working women usually have to   4   for lower wages, fewer promotions, less responsible 5  .
In America, on the other hand, most women,    6   wives and mothers, work most of their lives. But   7  , few have had real careers. As in Japan most fields are   8   by men and opportunities for women have been    9  , salaries low, chances for advancement   10 . American women work mainly because they    11  ; in these days of inflation and luxury living,    12   income per family is simply not enough to   13   . So American women actually have two jobs; one nine –to –five position outside the home, and   14   round- the- clock in –the-home job   15   wife. Housemaid, cook, and nurse. 

One of the main goals of the modern women’s liberation movement, which started    16  , was to eliminate sex discrimination in the work force, and to   17   careers for women that were previously    18   for men. And though there is still a long way to   19  , a lot of progress has been    20 .

1. A) conservative    B) usual    C) traditional    D) unhappy

2. A) for       B) with      C) up to      D) away with
3. A) job       B) career    C) profession   D) post

4. A) settle     B) request    C) ask        D) search

5. A) titles     B) status     C) assignments   D) positions

6. A) concerning  B) including   C) containing   D) involving

7. A) at present  B) until recently  C) recently  D) not until recently

8. A) owned     B) kept      C) led        D) dominated

9. A) restricted   B) bounded   C) reduced    D) prohibited

10. A) small     B) inadequate   C) rare     D) scarce

11. A) should     B) ought      C) like     D) have to

12. A) one      B) single     C) only      D) the one 

13. A) live     B) live on     C) feed on     D) support

14. A) another   B) one       C) other      D) the other 

15. A) such as    B) like      C) as        D) acting

16. A) in the early 1960s        B) in early the 1960s

C) early in the 1960         D) in the early 1960

17. A) lead to    B) open up    C) offer    D) set up 

18. A) preserved   B) observed   C) concerned   D) reserved

19. A) go       B) travel      C) strive     D) pull through

20. A) made     B) taken     C) covered     D) completed

IV. Reading（40 points, 2 points each）

Read the following passages and answer the multiple-choice questions; decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.
Passage 1 
Geraldo Rivera is well known for his compassionate investigative reports on WABC-TV Eyewitness News. He has done exposes of New York City’s welfare hotels, the over-pricing of prescription drugs, and drug abuse. In 1971, he received the Associated Press Broadcaster of the Year award for the program Drug Crisis in East Harlem. He received the award again in 1972 for the program Migrants, Dirt Cheap.

His most famous expose however was done on the horrible conditions at Staten Island’s Willowbrook State School. It is the world’s largest institution for the mentally disabled. His investigation began when he and his camera crew gained access to one of the building. Geraldo’s emotionally charged reports exposed the unsanitary conditions and neglectful, often abusive, treatment of the patients. He cried over what he discovered, and he made his viewers cry, too. The programs created a public plea for reform, and changes were made. Governor Nelson Rockefeller of New York restored $20 million to the school’s slashed budget. The programs--Willowbrook earned him the Scripps-Howard Award, an Emmy，and the Robert F. Kennedy Journalism Award.

Geraldo Rivera has continued working for the mentally disabled. He founded One-to-One, a charity that provides small group homes for the care of the mentally disabled in the community. He hosts huge outdoor festivals for the mentally disabled in New York City’s Central Park. He also wrote a book about some of the courageous people he has met as an investigative journalist. It is called A Special Kind of Courage. As he himself says, “I make no pretense of objectivity. But I’m not just in the business of making people cry. I’m in the business of change.”

1. Geraldo Rivera is working as a(n)____．

A) news reporter for a newspaper in New York

B) investigative reporter for a special TV program

C) investigative officer of the New York government

D) philanthropist for the welfare of the mentally disabled

2. How many awards did Rivera receive for his work?

A) Two     B) There     C) Four     D) Five

3. Rivera’s investigation and expose on the conditions at Willowbrook State School led to ____.

A) the public concern and request for changes.

B) the improvement of the conditions there.

C) a considerable increase in the school’s budget

D) all of the above

4. The term “One-to-One” in the 3rd paragraph refers to____.

A) an organization in the community that helps take better care of the mentally disabled

B) a device that helps the mentally disabled behave themselves

C) an organization that provides homes for the mentally disabled

D) a hospital that helps cure the mentally disabled

Passage 2                                

   In the same way that a child must be able to move his arms and legs before he can learn to walk, the child must physiologically be capable of producing and experiencing particular emotions before these emotions can be modified through learning. Psychologists have found that there are two basic processes by which learning takes place. One kind of learning is called “classical conditioning.” This occurs when one event or stimulus is consistently paired with, or followed by, a reward or punishment. It is through classical conditioning that a child learns to associate his mother’s face and voice with happiness and love, for he learns that this person provides food and comfort. Negative emotions are learned in a similar fashion.

    The second kind of learning is called “operant conditioning.” This occurs when an individual learns to do things that produce rewards in his environment and learns not to do things that produce punishments. For example, if a mother always attends to her baby when he cries and cuddles him until he is quiet, she may teach him that if he cries he will get attention from mother. Thus, the baby will learn to increase his crying in order to have his mother more.

Every day, we grow and have new experience. We constantly learn by reading, watching television, interacting with other people, and so forth. This learning affects our emotions. Why is it that we learn to like some people and dislike others? If a person is nice to us, cares about us, we learn to associate this person with positive feelings, such as joy, happiness, and friendliness. On the other hand, if a person is mean to us, does not care about us, and even deliberately does things to harm us, we learn to associate this person with negative feelings, such as unhappiness, discomfort, and anger.

5. The author’s main purpose in writing the passage is to____

A) teach children how to learn to produce and experience certain emotions

B) give the general reader an account of two basic kinds of learning

C) give parents some advice on how to modify their children’s emotions through learning

D) discuss with psychologists how positive and negative feelings are produced

6. If you jokes often find a ready echo in a person, you will learn through ___that telling jokes to this person is fun, and you will try with greater efforts to be humorous in his presence

A) classical conditioning    B) operant conditioning

C) neither of them         D) some other sorts of conditioning

7. If a child is bitten or startled several times by a dog, he may learn to associate furry animals with pain or startle and thus develop a fear of furry animals. This is a typical example of learning through____

A) classical conditioning     B) operant conditioning 

C) both of them            D) neither of them

8. In the third paragraph, the author is       .

A) discussing how we grow and have new experiences every day

B) talking about learning to modify emotions through operant conditioning 

C) concentrating on learning by reading, watching television, interacting with people, and so on 

D) using examples to further illustrate learning through classical conditioning 

Passage 3

A classic series of experiments to determine the effects of overpopulation on communities of rats was conducted by a psychologist, John Calhoun. In each experiment, an equal number of male and female adult rats were placed in an enclosure. The rat populations were allowed to increase. Calhoun knew from experience approximately how many rats could live in the enclosures without experiencing stress due to overcrowding. He allowed the population to increase to approximately twice this number. Then he stabilized the population by removing offspring that were not dependent on their mothers.  At the end of the experiments, Calhoun was able to conclude that overcrowding causes a breakdown in the normal social relationships among rats, a kind of social disease. The rats in the experiments did not follow the same patterns of behavior as rats would in a community without overcrowding.

The females in the rat population were the most seriously affected by the high population density. For example, mothers sometimes abandoned their pups, and, without their mothers’ care, the pups died. The experiments verified that in overpopulated communities, Mother rats do not behave normally. Their behavior may be considered diseased, pathological.

The dominant males in the rat population were the least affected by over population. Each of these strong males claimed an area of the enclosure as his own. Therefore, these individuals did not experience the overcrowding in the same way as the other rats did. However, dominant males did behave pathologically at times. Their antisocial behavior consisted of attacks on weaker male, female, and immature rats. This deviant behavior showed that even though the dominant males had enough living space, they too were affected by the general overcrowding.

Nondominant males in the experimental rat communities also exhibited deviant social behavior. Some withdrew completely, avoiding contact with other rats. Other nondominant males were hyperactive, chasing other rats and fighting each other.

The behavior of the rat population has parallels in human behavior. People in densely populated areas exhibit deviant behavior similar to that of the rats in Calhoun’s experiments. In large urban areas, such as New York City, London, and Cairo, there are abandoned children. There are cruel, powerful individuals, both men and women. There are also people who withdraw and people who become hyperactive. Is the principal cause of these disorders overpopulation? Calhoun’s experiments suggest that it might be. In any case, social scientists and city planners have been influenced by the results of this series of experiments.

9. Calhoun stabilized the rat population        .

A) when it was double the number that could live in the enclosure without stress

B) by removing young rats 

C) so that there was a constant number of adult rats in the enclosure 

D) All of the above are correct 

10. Which of the following inferences CANNOT be made from the information in paragraph 1?

A) Calhoun’s experiment is still considered important today.

B) Overpopulation causes pathological behavior in rat populations.

C) Stress does not occur in rat communities unless there is overcrowding.

D) Calhoun had experimented with rats before.

11. According to the passage, which of the following is NOT true?

A) Dominant males had adequate living space.

B) Dominant males were not as seriously affected by overcrowding as the other rats. 

C) Dominant males attacked weaker rats.

D) The strongest males are always able to adapt to bad conditions.

12. The author implies that the behavior of the dominant male rats is sometimes parallel to that of      .

A) cruel, powerful people    B) people who abandon their children 

C) hyperactive people.      D) All of the above are correct 

Passage 4

Social change is more likely to occur in societies where there is a mixture of different kinds of people than in societies where people are similar in many ways. The simple reason for this is that there are more different ways of looking at things present in the first kind of society. There are more ideas, more disagreements in interest, and more groups and organizations with different beliefs. In addition, there is usually a greater worldly interest and greater tolerance in mixed societies. All these factors tend to promote social change by opening more areas of life to decision. In a society where people are quite similar in many ways, there are fewer occasions for people to see the need or the opportunity for change because everything seems to be the same. And although conditions may not be satisfactory, they are least customary and undisputed.

Within a society, social change is also likely to occur more frequently and more readily in the material aspects of the culture than in the non-material, for example, in technology rather than in values; in what has been learned later in life rather than what was learned early; in the less basic and less emotional aspects of society than in their opposites; in the simple elements rather than in the complex ones; in form rather than in substance; and in elements that are acceptable to the culture rather than in strange elements.

Furthermore, social change is easier if it is gradual. For example, it comes more readily in human relations on a continuous scale rather than one with sharp dichotomies. This is one reason why change has not come more quickly to Black Americans as compared to other American minorities, because of the sharp difference in appearance between them and their white counterparts.

13. The passage is mainly discussing      .

A) two different societies     B) the necessity of social change

C) certain factors that determine the ease with which social change occur 

D) certain factors that promote social change

14.        is one of the factors that tend to promote social change.

A) Joint interest           B) Advanced technology

C) Less emotional people    D) Different points of view

15. The expression “greater tolerance” (paragraph 1) refers to        .

A) “greater willingness to accept social change”

B) “quicker adaptation to changing circumstances”

C) “more respect for different beliefs and behavior”

D) “greater readiness to agree to different opinions and ideas”

16. According to the passage, which of the following is NOT true?

A) Social change tends to meet with more difficulty in basic and emotional aspects of society.

B) Disagreement with and argument about conditions tend to slow down social change.

C) Social change is more likely to occur in the material aspect of society.

D) Social change is less likely to occur in what people learned when they were young.

Passage 5
During her childhood, Rachel showed an interest in nature and in writing. After high school, she enrolled in Pennsylvania State College for Women, intending to become a writer. She switched to biology, however, thereby setting the course of her life. Rachel went to Johns Hopkins University in Baltimore for further study and became a member of the zoology staff at the University of Maryland.

For fifteen years, Rachel worked for the United States Fish and Wildlife Service, writing and editing publications. Fortunately, her employer encouraged her to reach a larger audience. Rachel’s poetic style of writing in three books about the ocean caught the imagination of the general reader. Her rare talent as both a physical scientist and a gifted writer earned her the National Book Award for The Sea Around Us.

Rachel’s next book marked her as a leading conservationist and a crusader for the preservation of the natural environment. She began writing Silent Spring, knowing that she would be personally attacked and ridiculed. She continued writing despite the ill health that slowed her progress. Upon completing the book, she wrote to a close friend, “I have felt bound by a solemn obligation to do what I could—if I didn’t at least try I could never again be happy in nature. But now I can believe I have at least helped a little.”

Rachel Carson did more than help a little. Although both government and industry opposed her, specialists in public health, the press, and the public itself all supported her fight against the irresponsible use of insecticides. Her book eventually led the government to ban DDT.

17. This passage is concerned mainly with        .

A) the environmental revolution in the United States

B) Rachel Carson as a poetic writer 

C) the popularity of The sea Around Us and Silent Spring
D) Rachel Carson as a conservationist

18. Which of the following is NOT true according to the passage?

A) As a child, Rachel loved books and the natural world.

B) Rachel started her higher education aiming at becoming a writer.

C) she decided to switch her major to biology in Johns Hopkins University

D) Rachel won the National Book Award for The Sea Around Us.
19. She began to write Silent Spring because      .

A) her employer encouraged her to do so

B) she felt obliged to fight against the poisoning of the earth

C) her poetic writing style was very much appreciated by the general reader

D) she knew that it would not bring her any personal harm

20. The statement “Rachel Carson did more than help a little” in the fourth paragraph signifies that      .

A) she played a significant role in the environmental revolution

B) she had proved herself to be an outstanding writer, poet and scientist

C) she knew the importance of what she was doing and she succeeded

D) she devoted her whole life to helping friends and those suffering from the poisoned environment

V. Writing (40 points)

Write on the answer sheet a composition of about 300 words on the following topic:

Now our government is calling on innovation of the masses. What is your understanding of it? Write an article to explain it, focusing on the relationship between innovation and economy development.
ON THE RELATIONSHIP 

BETWEEN INNOVATION AND ECONOMY DEVELOPMENT
You are to write in four paragraphs.

In the first paragraph, introduce the topic and state your view about this topic.

In the second and third paragraphs, state the reasons to support your view.  

In the last paragraph, bring a natural conclusion.
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